22

23

21

24

25

26

27

28

29

CONOONARWN=

. Spring - engine idle speed-up

. Lever - transmission linkage

. Ball - throttle lever

. Lever - idle speed-up control

. Spring and bearing assy - throttle return
. Lever - throttle

. Shaft - air intake charge throttle

. Plate - air intake charge throttle
.Screw-M4 x.7x8

. Screw - M4.2 x 1.41 x 15.9 (self-tapping)
. Bracket - engine throttle positioner

. Actuator assy - throttle control

. Plate - engine air distribution

. Screw - M5 x .8 x 14.0

. Tube - emission inlet

. Connector - fuel tube quick connect

(5/16 x 1/4 NPTF)

. O-ring - 20.4 ID x 1.78 wide

. Spring - fuel pressure reg. valve

. O-ring - 18.6 ID x 3.50 wide

. Retainer - fuel injector

. Screw - M4 x .7 x 12.0

. Injector assy - fuel

. Cover - fuel pressure regulator

. Plug - expansion

. Screw - M4 x .7 x 16.0

. Screw - fuel pressure regulator adjusting
. Cup - fuel pressure regulator

. Spring - fuel pressure regulator diaphragm
. Body - fuel pressure regulator valve

. Retainer - fuel pressure regulator diaphragm
. Diaphragm - fuel pressure regulator

. Retainer - fuel pressure regulator valve

. Valve assy - fuel pressure regulator

. Tube - fuel pressure regulator outlet

. Body assy - fuel charging main

. Body - fuel charging main

. Gasket - fuel charging body

. Screw - M4 x .7 x 22.0

. Potentiometer assy - throttle

. Screw - M5 x .8 x25.0

. Body - fuel charging throttle

. Plug - expansion

. Screw - M5 x .8 x 19.0

. Screw - M5 x .8 x 30.0

. Seal - fuel charging shaft

. Screen - fuel inlet



